Math (F&P) 10

Polynomial Review
Name: %Kw
[leamingGoal  [Beginning | Developing | Prafitient | Sophisticated |

| will be able to find LCM/GCF using prime factorization
| will be able to show the multiplication of polynomials
| will be able to show the factoring of polynomials

Learning Goal #1: | will be able to determine the prime factors of a number

1. Write the piime factorization of 35 700
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3. mrlte the prime factorization of 325
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4. Write the prime factorization of 348

S|las_
g Z)

4

LR

N
5. What is the LCM of 14 and 307
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9. What is the GCF of 483 and 5757
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10. What is th@GCF of 663 and 9107? l
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8. yWhat is the LCM of 40, 60, and 100? L{O J, - ‘
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ing Goal #2: | will be able to show the multiplication of polynomials

mials. Be sure to thLLYOURWORKI

B~ 45)(*3 _ 55)(3 + 15X

o +y = A
Q\A -MS"-!' 7)33' 1WA

c. 4(as

CBfan 1) ¢ 0040 -\2
k. L%mblx&s"'%&b Y- 28



2. Calculate the area of the below shape:
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Learning Goal #3: | will be able to show the factoring of polynomials
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